Lsrolnt.

o
—

® 13

A% GHSE oh
@ 2 & Ao BA 250l

O
® 5 Hr} 2ke A4k 9 3 02 2 Ffo|r},

@1




ol

o)

L-;b

il
N

@3.5kg HA +3.5ke

® 2kg 7t +2kg
® ¢ 1000

] 41000 ¢

i

o
L

0
LOT
1.;

_5.:._ ﬂ.ﬁ

A2
;oT ©
o |
i &
_&.E oM

o|J

3.5kg 7} Ht.

L
= =

UetH 22 3.5kg T4




3. o= ol i Aot 4 g2 Ae BF 1=H?

CPCELESPRS T
@ 29 885 1 55, - g ~3.(3 A1)
® A2 4 (1 )




10
) ‘g

® -2 2agt @) 2t

6| 6

2l=2=12
o3

10/ 10

—|==—=333
®‘3 3
®0

@ -2 o gage 2 =25 Ik

® 59] Adigk2 50|t}
watA 71 2 = 5]t




5. the % 4AAC eSS T, P %] 9AsHs S0

@ -3 @ 0 ® -1

Foldl 5L 52 Mo Lhehfio] HHl kgt 2t
® © ®O® @
<+ttt
-7 -5 -3 -10 2 4 6 8




_Job
)}j@})

(=7)+{(+16.2)+(—-6.2

(=7)+(+10)

(=7)+(+16.2)+(-6.2)
=+3

(+16.2)+(-7)+(—-6.2)

—

Ton

—

_Z_l
s
o
4
ol

=n
Ho
~8

o

—

:&!

ol
eyl
or

=
Ho
~8
ol
oy
E
ol

A

Ho

—

Ton

I~
g
o
E|
o

TR

Ho

=1 -
ar g

kel

04

=

=

7) I (+16.2) 7F A2 B -

16.2) &} (-6.2)

+

7h (
() (




D 10a ¢ @ —4
10—a

1a¥l =
@®)0.1a ® 10

1 220 1"_0 AolBZ 0.1q Y




8.

a=3,b=-5%9 |, 2a+4b o] 27

® -4 @ -12 (@)—14 @ 6

® 16

2a+4b =2x3+4x(-5) =6+ (-20) =-14




D x-1 @ 3a-4b+1

® v -1 @ax(—%b)—i—l

@ x-1: grdA]o]t},
@ 3a—-4b+1 : T}3}HA]
@ b?-1: g4

1 1 _
@ax(~3b) +1=zab+1: Tk

@ xxyxy=xy?: &4




X +6 9] A4, ol

10.

R
<«

on




O -x*+2 @ -+4 3)4x -6

© 2 o]%4]
@1 -7 Bud gon2 afse ot
@0-x - x 0 °] FolA 247 Qolieh

=Rt




B7]
@ 2x © —2xy © -y
® 2 @ 3¢ ® -2

va0 206 Bae ®ee 6606

R BAS A4} BT g2 Y

9 2%, @ —gx o Bl x2 2T BE 1 3olt),




(=) + (vp) = (+5) + (-35) + ()




olJ
%
o8
olig
Xfo

oln

®
—42
x (=3)? = -144




@ ddigho] 7 &2 4= 00l
O A9 dulgh2 g5 E= 00t

© €9 A4 1 Agige] 2 47} Ak,
©® +59] ARG 5011, ~79] FRGS 70|82 79| FRG
o] k.

® Agko] 29 Sk 42, ~20]ch




16. 2-4+3-7& AAtstoizt,

> E
> Hehl -6

8

+2) + (=4) + (+3) + (-7)

) ( 3)+(=4) +(-7)
+(+3)} +{(=4) + (-1}

(2+3 +{-(4+7)}

5) +(-11)

11-5)=-6

N
1
— _j’_,_/\“/\/\

+

|
—




I ALt A3 7F

B E

O
)

17. o

.

ul
KO

1_81_n.u
| |
8]

— N 0 [0 — |

© @ @




18. oA 2x3 — x+ 5y -6 oA & MeEa 7 o], AT b, x
N Ag=coltt ol W, a+b—c 9 S +5l4iz=t

> E:

> ™t a1

S8 ,
263 — x+ 5y — 6 9 F| AL 4 A o1, AT -6, x 9
Ase -1 ot
W&t g =4,b = —-6,c = -1 °|th.
at+b-c=4+(-6)-(-1)=4-6+1=-1°Jt}.




DY2x+13 @ 2x+11 ® 2x+9

@ 12x+13 ® 12x+ 11

[ J=mx+11-(x-2)
=Tx+11-5x+2
=2x+13




@ Bx-1)-(2x-5)=3x-1-2x+5

@ 7a-23a-4)="Ta-6a+8

x-2 2x+1 x-2 2+ 1
@ (5a-20) =+ (-5) = “_‘5
® (a-2)x(-1)=-a+2
x—2_2x+1_2(x—2)_3(2x+1)
3 2 6 6
x?—%—&%@“ﬂ opm & oFHo| 6 -2 FotH oF Hr},




